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® DE = 12cm

@ BC = 19cm

® ADEC*E 3474

@) aDEC ] £ ol 21em
® pABCD 9] E8]9] Zo]+= 50cm
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/B = /C =60°, AB =DC = DE = 12cm©|2& ADEC =
o] FH Az olt}.
(C = /DEC = 60°
uw2bA ADEC+E WZho] =% 60° o] 22 H4zto|tt, - EC =
12(cm)
/B = /DEC°]2&2 AB//DE°|1, AB = DE = 12cm°|2&
ODABED = H Aol
AD = BE = 7cm
-~ BC=BE+EC=7+12=19
w24 pABCD & 9] Zo]E= 74 12x 2 + 19 = 50(cm) ©]t}.
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AC//DE°|B& AACE = AACD =8
- AABE = AABC + AACE = 12 4+ 8 = 20
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D)25cm? @ 30cm? ® 35cm?

@ 40cm?2 ® 45cm?

AE //DColB 2 ¥z} Eo]7} Zro} AAEC = aAADE©|t},
OABED = AABE + AADE = AABE + AAEC = AABC

- DABED = % x5 x (6 + 4) = 25(cm?)
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AC //DE ©]2& AACD = AACE ©]t}.
AABE = AABC + AACE

= AABC + AACD

= oABCD

. AABE = 30( cm?)
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AB//DE°|E& /ABE = /DEC = 60°°]1,
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wt2bA] ADEC & Az ol

DC = AB = 10°]22 £ 9] Zo]& 10 + 10 + 10 = 30(cm)
oltt.
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9. 2 I1HoA oABCD 2] Yolx 20em? o], AACE 2] Y o]= 8cm?
oltt. AC//DEY u], AABC 9] Ho]=?

A D
B C E
® 8cm? @ 9cm? ® 10cm?
@ 1lcm? @ 12cm?

AACE = AADE = AADC = ACED ©] 11
AABC = DABCD - AACD OB 2
AABC = 20 - 8 = 12(cm?)
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ADEC = ADEB + ADBC
= AABD + ADBC
= o0ABCD

. ADEC = 12(cm?)
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OABCD = AABC + AACD = AABC + AACE

. OABCD = 25 + 10 = 35
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AACD = AACEO| B2
oABCD = AABC + AACD
= AABC + AACE
= AABE

(=°]) =8x2+4=4(cm)
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14. the B7] F 9T 2L WYAAG ABCD A D
7} AZEgo] Sl st 7ol o A4S v

= g2mW9

@ AC=DB, AC1DB

© BO=CO, £ABC =90°
© AC=DB,AB=AD
® ACLDB, /ABC = 90°

® AB=AD,AC1DB
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BaAgo] AAgel Heiw £ vhzael dojst
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th& 193 Zo] AD //BC )1 THATEE
ABCD 4] CD = 6cm, AD = 5cm, /A =
120° & ), DABCD €] &9 Zol& 5}
ofzt.

> E: cm

> HE. 28cm

~&B

ODAECD = HajAtdgdolBmg AD =
EC = 5cm
AABE = A4t7Ztgo]22 AB = BE =

6cm

11(cm)
OABCD 9 E¥& 5+ 6+ 11 + 6 = 28(cm)
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(A =90°, AB =BC ¢ o, 0ABCD += ©|H
A2 17} b
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